## **CONTRACT AGREEMENT**

AUG 1 5 2024 THIS AGREEMENT, made this \_ day of \_ ,2024 between NATIONAL IRRIGATION ADMINISTRATION, Regional Office No. 1, Brgy. Bayaoas, Urdaneta City, Pangasinan of the Philippines, represented herein by its Regional Manager A, Engr. Danilo V. Gomez (hereinafter called the "Entity") and RIVBROS CONSTRUCTION FACTORS & DEVELOPMENT of 117 Rizal St., San Manuel, Pangasinan of the Philippines, herein represented by its Owner/Manager, Engr. Romeo C. Rivera (hereinafter called the "Contractor").

WHEREAS, the Entity is desirous that the Contractor execute Calambeg CIS/ Repair NIS Fund/CY 2024/Construction of Diversion Dam & Pipeline Works, located in Piddig, llocos Norte under Contract No.: R1-INIMO-NISRep-2024-26 (hereinafter called "the Works") and the Entity has accepted the Bid for NINETY FOUR MILLION SEVEN HUNDRED TWENTY SIX THOUSAND FIVE HUNDRED FIFTY EIGHT PESOS & 10/100 (Php 94.726.558.10) by the Contractor for the execution and completion of such Works and the remedying of any defects therein.

NOW THIS AGREEMENT WITNESSETH AS FOLLOWS:

- 1. In this Agreement, words and expressions shall have the same meanings as are respectively assigned to them in the Conditions of Contract hereinafter referred to.
- The following documents as required by the 2016 revised Implementing Rules 2. and Regulations of Republic Act No. 9184 shall be deemed to form and be read and construed as part of this Agreement, viz .:
  - a. Philippine Bidding Documents (PBDs):
    - Drawings/Plans; i.

C. MOULIC, CPA, MBA UEL610 T. UALUADOR

Manager

8

MS. VANES Division

Witnesses

Rivbros Construction Factors & Development By:

frigation Administration

National I Bv:

ROMEO C/RIVERA

ENGR.

MSME

EZ.

Regional Manager A

Owner/Manage

- Specifications: ii.
- Bill of Quantities; iii.
- General and Special Conditions of Contract; iv.
- Supplemental or Bid Bulletins, if any: V.
- b. Winning bidder's bid, including the Eligibility requirements, Technical and Financial Proposals, and all other documents or statements submitted;

Bid form, including all the documents/statements contained in the Bidder's bidding envelopes, as annexes, and all other documents submitted (e.g., Bidder's response to request for clarifications on the bid), including corrections to the bid, if any, resulting from the Procuring Entity's bid evaluation;

- c. Performance Security;
- d. Notice of Award of Contract and the Bidder's conforme thereto; and
- e. Other contract documents that may be required by existing laws and/or the Procuring Entity concerned in the PBDs. Winning bidder agrees that additional contract documents or information prescribed by the GPPB that are subsequently required for submission after the contract execution, such as the Notice to Proceed, Variation Orders, and Warranty Security, shall likewise form part of the Contract.
- 3. In consideration for the sum of NINETY FOUR MILLION SEVEN HUNDRED **TWENTY SIX THOUSAND FIVE HUNDRED FIFTY EIGHT PESOS & 10/100** (Php 94.726.558.10) or such other sums as may be ascertained, RIVBROS **CONSTRUCTION FACTORS & DEVELOPMENT** agrees to Three Hundred Thirty (330) calendar days in accordance with its Bid.

Page 1 of 4 Contract Agreement for the Calambeg CIS/ Repair NIS Fund/ CY 2024/Construction of Diversion Dam & Pipeline Works R1-INIMO-NISRep-2024-26

Â	ITEM No.	DESCRIPTION	QTY.	UNIT	UNIT COST (Php)	AMOUNT (Php)
And who by	I. TEM	PORARY WORKS				
Medelo	1.	Mobilization/Demobilization	1.00	l.s	97,500.00	97,500.00
	2.	Project Billboard/Sign Board	1.00	unit	6,046.99	6,046.99
	3.	Temporary Facilities (Bodega)	1.00	l.s	78,000.00	78,000.00
	4.	Construction Safety and Health	1.00	l.s	740,350.00	740,350.00
		ERSION WORKS				
	1.	Care of Water Construction of Coffer Dam	3.00 929.00	mos.	107,736.72	323,210.16
MB/		A CARLES AND CONTRACTOR AND A CARLES	Notice and starting	cu.m.	226.53	210,446.37
A, I	3. 4.	Structure Excavation (Mech.) Structure Excavation (Manual)	27,505.94 2,750.59	cu.m	110.60	3,042,156.96
IOULIC, CPA, MBA	5.	Procurement, Installation and Piling of Sheet Piles	800.00	cu.m. pcs	419.00 6,306.83	1,152,497.2
A, A	6.	211 kgs/ sq. cm. Plain Concrete	2,443.26	cu.m.	9,669.01	23,623,905.3
Witnesses: MS. VANESSA C. MO Division Manager	7.	Rubble Masonry w/ Class "A" Concrete Binder	2,207.73	cu.m.	6,857.33	15,139,133.1
	8.	Procurement and Stockpiling of Reinforcing Steel Bars	116,160.00	Kgs.	55.19	6,410,870.40
	9.	Cut, Bend and Installation of Reinforcing Steel Bar	116,160.00	Kgs.	44.10	5,122,656.00
W	10.	Procurement & Delivery of 60 cm dia. Steel Pipe	46.00	pcs	226,527.28	10,420,254.8
	11.	Installation of Steel Pipe	46.00	pcs	617.50	28,405.00
n Factors & Development RIVERA	12.	Procurement, Delivery and Installation of 60cm dia. G.I. Flange w/ accessories	1.00	l.s.	1,464,450.98	1,464,450.98
	13.	Procurement and Installation of 10cm dia. PVC Perforated Drain Pipe	75.00	l.m.	319.06	23,929.50
	14.	Procurement and Installation of 5cm dia. PVC Weep holes	201.00	l.m.	242.48	48,738.48
	15.	15. Procurement and Installation of Filter Drain	161.60	cu.m.	1,398.51	225,999.22
age age	16.	Protection Works – Gabion Works	605.00	cu.m.	5,450.87	3,297,776.35
Managel	17. 18.	170Kgs/sq.cm Plain Concrete Structures Backfill with Compaction	558.71 1,707.60	cu.m.	8,645.91	4,830,556.38
By: By: By: By: By: By: By: By: By: By:	19.	(Mech.) Procurement and Installation of 2" Dia.	1.00	cu.m.	99,065.81	276,767.81 99,065.81
	20.	G.I. Pipe Railings Fabrication & Installation of Trash	1.00	l.s.	172,288.35	172,288.35
	20.	Screen at Gate House Fabrication and Installation of Manhole	7.00	units	14,236.12	99,652.84
	22.	Cover with Complete accessories Fabrication and Installation of Intake	2.00	unit	148,167.98	296,335.96
	23.	Gate Fabrication and Installation of	4.00	unit	2,325,892.73	9,303,570.92
	23.	Sluicegate	4.00	unit	SUB-TOTAL	91,580,029.1

Page 2 of 4 Contract Agreement for the Calambeg CIS/ Repair NIS Fund/ CY 2024/Construction of Diversion Dam & Pipeline Works R1-INIMO-NISRep-2024-26

ITEM No.	DESCRIPTION	QTY.	UNIT	UNIT COST (Php)	AMOUNT (Php)		
III. PIP	PELINE WORKS						
1.	Common Excavation (Mech.)	347.82	l.m	110.93	38,583.67		
2.	Sand and Gravel Bedding	87.97	cu.m.	906.96	79,785.27		
3.	211 kgs/ sq. cm. Plain Concrete	3.17	cu.m.	11,937.42	37.841.62		
4.	Procurement and Stockpiling of Reinforcing Steel Bars	253.30	kgs	55.19	13,979.63		
5.	Cut, Bend and Installation of Reinforcing Steel Bar	253.30	kgs	44.10	11,170.53		
6.	Procurement & Delivery of 30 cm dia. GI Pipe	7.00	pcs	57,429.45	402,006.15		
7.	Procurement & Delivery of 30 cm dia. uPVC Pipe	26.00	pcs	38,286.30	995,443.80		
8.	Installation of Pipe	33.00	pcs	617.50	20,377.50		
9.	Procurement, Delivery and Installation of Fittings w/ accessories	1.00	l.s	1,507,523.07	1,507,523.07		
10.	Backfill with Compaction	260.40	cu.m	152.91	39,817.76		
	SUB-TOTAL CONTRACT AMOUNT						

4. The National Irrigation Administration agrees to pay the above-mentioned sum in accordance with the terms of the Bidding.

IN WITNESS whereof the parties thereto have caused this Agreement to be executed the day and year first before written.

ENGR. DANILO V. GOMEZ, MSME Regional Manager A

ENGR. ROMEO C. RIVERA Owner/Manager

Witnesses:

MOULIC, CPA, MBA MS. VANESSA Division Manager A, AFD for

National Irrigation Administration -

Region 1

ADOR

for

**Rivbros Construction Factors &** Development

Page 3 of 4 Contract Agreement for the Calambeg CIS/ Repair NIS Fund/ CY 2024/Construction of Diversion Dam & Pipeline Works R1-INIMO-NISRep-2024-26



CULLADOR.

VER6/0

C. MOULIC, CPA, MBA nager A, AFD

Manager

Division

19

24

K

Doc. No.

Page No.

Book No. Series of 2024

MS. VANESSA

Witnesses

Rivbros Construction Factors & Development By:

ENGR. ROMEO G. RIVERA Owner/Manage

DANILO V. BOMEZ, MSME

ENGR.

Regional Manager A

Administration

rrigation

National

ŝ

S.S. )

## ACKNOWLEDGMENT

\_day of \_\_\_\_\_\_ 4UG 15 2024, 2024 BEFORE ME, a Notary Public for and in the above jurisdiction, this \_\_\_\_\_ \_, ENGR. DANILO V. GOMEZ, Regional Manager A of the National at Irrigation Administration Regional Office No. 1, with Professional Regulation Commission (PRC) Identification Card No. 0027268, valid until 23 August 2025, and ENGR. ROMEO C. RIVERA, Owner/Manager of Rivbros Construction Factors & Development with Professional Regulation Commission (PRC) Identification Card No. 0025486, valid until 22 January 2027, are known to me to be the same persons who executed the Contract Agreement consisting of four (4) pages, including this Acknowledgment, and they acknowledged to me that the same are their own free and voluntary act and deed, as well as the institutions they represent.

WITNESS MY HAND AND NOTARIAL SEAL on the date at the place first above written.

t VAN NO embe RAMISCAL NO. 87078-05-02-2023 of Attorne TR NC, 13833 5-01-02-2023, 87078-05-02-2023 TR NC, 13833 5-01-02-2024, Manadag, Pangasham DP NO, 378024-12-2023, Dagupan City, Pangasham MCLE Exemption (New) Admitted-05-02-2023 Ofarial and Law Office: Ramiscal Law Office, Manamber Compound, Alexander St., Urdeneta City, 2428 Pangester Manifestivanessal/amiscal/amail.com listtyvanessajramiscal@gmail.com bone No.09568219653

Page 4 of 4 Contract Agreement for the Calambeg CIS/ Repair NIS Fund/ CY 2024/Construction of Diversion Dam & Pipeline Works R1-INIMO-NISRep-2024-26